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. ()R RUERERR B H B neural tube & neural crest B IBIR. (5 points)

(b)neural tube X neural crest & B BB R ? (2 points)

(@B RETBEDH =8 primary brain vesicles B ? (3 points)

- (a)RRHNIAE photoreceptors MG K ALIBRARIE T £ (A8, (4 points)

OFRBXB=ERRAR (BEEK, HERBLE ) & retina ganglion cells 1843 visual cortex
HIERHE ? (6 points)

. (a)RRHNE & LA I Bhi2 #149 motor loop (8 points), T Parkinson’s disease 3% B A motor loop
HRESM TR BIRE 2 (2 points)

(b) AR BMEIR I B excitation-contraction coupling 1B, (5 points)

. #BEL nelromuscular synapse R BIRH synapse KRR BIRINIBRE, (7 points)

. %ﬁﬁ"ﬁﬂﬁ%ﬁﬁb%%ﬁﬁﬂ?355iﬁﬂﬁﬁ“ﬁg”ﬁ“ﬁaiﬁ"%ﬁsﬁﬁgo (8 points)

. Action potential firing can be at a high frequency. How high do you expect the frequency can be?
Why? (10%)

. How do you prove a chemical extracted from brain lysate is a neurotransmitter? (10%)

. Benzodiazepine can be used to treat insomnia (4ER) and anxiety. How does it work? (10%)

. Explain the following terms, 4% each

A. The enteric division of the ANS B, Leptin C. Sexual dimorphisms

D. Broca's limbic lobe E. Pulvinar nucleus
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